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SECTION -1 [MENTAL ABILITY]

Directions — In questions 1-5 each has five terms. Four terms are alike in some way while one term is
different from the others. Find out the term, different from the others.
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SECTION -1l [PHYSICS]

A 20 N metal block is suspended by a spring balance. A beaker containing some water is placed on a
weighing machine which reads 40 N. The spring balance is now lowered so that the block gets
immersed in the water. The spring balance now reads 16 N. The reading of weighing machine will be:

(36N (b) 60N (c) 44N (d) 56 N
If the momentum of a body is increased by 50%, it’s Kinetic Energy will be increased by:
(a) 50% (b) 100% () 125% (d) 150%

The distances moved by a particle in ssmple harmonic motion in onetime period is:
@A (b) 2A (c) 4A (d)o
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9. Thedistancestraveled by abody falling from rest in the first second and third seconds are in the ratio:
@1:2:3 (b)1:3:5 (©01:4:9 (d) None of these.

10. A tuning fork sends sound waves in air. If the temperature of air increases which of the following
parameters will change?

() Amplitude (b) Frequency (c) Wave length (d) Time-period

SECTION - 11l [CHEMISTRY]
11. Rutherford’s scattering experiment is related to :

(a) Atom (b) Electron (c) Nucleus (d) Neutron.
12.  The number of unpaired electronsin Cr*3 are:

@1 (b) 3 (c) 4 (d) 6
13. Theelement of atomic number 22 belongs to which period of Periodic table:

@n (b) IV (©) VI (d) VII.
14. Binding energy of 2He" is 28.57 MeV. It’s Binding energy per neucleon is:

(a) 19.28 MeV (b) 7.14 MeV (c) 4.74 MeV (d) 57.14 MeV.
15. The mass of Neutron isof the order:

(@ 10*Kg (b) 10*Kg (c) 10*Kg (d) 10%Kg.

SECTION -1V [MATHS]

16. Thesum of the integers from 1 to 100 that are divisibleby 2 or 5is—

(8) 2550 (b) 3050 (c) 3550 (d) 3600

17. If g isinthefirst quadrant and cos q = § then the value of Stang — 4coseoq will be:
5 5secq—4cotq
5 5 5 5

a — by — C) —— d) -——

()16 ()34 © 13 @ 16
18. If oneroot of the equation x* —4x+k = 0is 6, then the value of k will be:

(@ 12 (b) 2 () -2 (d) -12.
19. If 2sin®q +cos” 45° = tan45°and 0<q < 90°, then tan q equals—

1
a) V3 by — c1 d) .
(@ (b) 7 (© (d)
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20.

21.

22.

23.

24,

25.

Thefollowing circular diagrams represents the yield of gram—

@,

Field-A
Field-B

If theyield in field —A is 400 kg, then the yield in field-B will be—

(a) 600 kg (b) 800 kg (c) 900 kg (d) 1200 kg.
SECTION -V [BIOLOGY]

The common phase between aerobic and anaerobic respiration is called:

(a) Glycolysis (b) Kreb’s cycle

(c) Tricarboxylic acid cycle (d) None of these.

The ultimate cause for the movement of water against gravity in atreeis:

(a) osmosis (b) transpiration (c) imbibition (d) photosynthesis.

Reflex action is controlled by:

(a) receptor—brain—muscles (b) muscles—spina cord—receptor

(c) receptor—spinal cord—muscles (d) muscle—brain—receptor.

The process in which water is split during photosynthesis and is essential for photosynthesis:

(a) Hydrolysis (b) Plasmolysis (c) Photolysis (d) None of these.

In roses, the most common method used to produce new plantsis:

(a) layering (b) tissue culture (c) cutting (d) none of the above.
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